> c:=0:5:= 0 :for 4 from 1 to 10000 do s := s + 4" iif isprime(s) then if 7 <5 thenc := ¢

2 2 2
L+ [12000 o]+ [Blmp]” 200+ [887 154, + [907 1551, ]

> #sumx' =Primeby H-E2019 —11 —9:

h
+1 :printLZ [jY =Prime (H+E[No=c]) | else print([11' + [2T + [3T +xxx
i=1

+ [h—11"" Y4 [h1"=Prime(s)[H+ E[No=c]]) endiffi :od:
[1]+ (21 =Prime (H+Ey,_ )

[11+ 127 + [37 + [4T* + [57 =Prime (H+Ey, _,)

(114 [2F + [37 +xxx + [57 + [61° = Prime(50069) ;.
No=2
(114 [2F + [37 +xxx + [97 + [101" = Prime(10405071317) .,

No=2
[1]4 27+ [3] +xxx+[2977 + [307

= Prime(208492413443704093346554910065262730566475781 ) ;. ¢
No=2

> for e from 2 to 6 do print( ) : ¢ := 0:s:= 1 for h from 1 t0 200 do s := s + ithprime(h)®:

h

if isprime(s) then ¢ :=c+1:ifh <5 thenprint([l] + Zithprime(j) [{j}ythp]°
j=1

= Prime (s)[HoE[N():c]]J else print( 1°+ [[2][{1}thp]]e+ [[3][2 thp]]e—i-xxx

+ [ithprime(h — 1) [ (h — 1) thp11° + [ithprime( h) [ h th p]11° = Prime(s) [H + E[ No
=c]1) end if fi :od:od:

2 .
[1] +2{1}thp=PrzmeSH,E
No=1

—I—[31“thp]2=Prime(3359)H,EN 2
om

L+ [12], thp]z + [[3]2;;,17]2 +xxx + [6118thp]2 + [6719”!17]2=Prime(24967)H.EN0=3

L+ (12100 o]+ (B, +20+ [29,]

L+ [12100y iyl + Bl 20+ [10755 5,7+ [1095 T

= Prime(109937) ;. »
No=4
1+[[2] 247131, P +xc+ [151 2 41157 2
[L21ymp] T [Bhm,] Haxe+ [15l36,, [+ [ 157574, ]
= Prime(263737) ;.
No=15

L+ (0210 ]+ [l +00 4 [3592 5,7+ [36773 0]

= Prime(2841373) ;. ;
No=06

L+ (12100 mp ]+ Bl 200+ [50306 5, + [5097 41,

= Prime(7547077) ;. g
No=17

2

= Prime(37464551) ;.
No=38

0y



L+ (0210 ]+ [Bhup] 0%+ 9531600, + [967 1630,

= Prime(44505631) . .
No=9

L+ (1200 gy |+ [l ]| o0+ [10335,, T+ 103955, T

= Prime(56680003) .

No=10
L+ [12000y o]+ [ Bl 20+ [1151 500, + [1153101 1]

= Prime(75937523) ;1. &
No=11

2

V(12100 o]+ [Bh,p] +20+ [Ty, TP+ [7321 4] = Prime(2013983),,

L+ (1210 o]+ [Bl,] 20+ [997 16,1 + [1009160 41, ]

= Prime(37528375567) ;. p
No=2

L+ (0210 s+ [Blam,] 200+ [1061 56, T + 106317, T

= Prime(48720948259) ;. »
No=3

4 .
[1] +2{1} thPZPrlme 174,
No=1

P+ T2T0y iy

L+ (1200 ]+ [Blamp]t Fo00+ 18147 + 1903, ]

= Prime(9723349723) ;.
No=3

L+ (1200 ]+ [Blanp]' 00+ 349,17 + 35351,

= Prime(190977764951) ,,.
No=4

L1210y o]+ [Bh,] + 20+ [541100,,]" + 39710001, ]"

= Prime(1503145202981) ;. »
No=5

1+ [[2]{1} thp]4 + [[3]2thp]4 + o + [857148thp]4 + [859149thp]4

= Prime(14418852565829) ;. »
No=06

L+ {121, thp]“ + [[3]2””)]4 + xxx + [953162””)]4 + 967,631, ]
= Prime(24276490010083 )

4
H-E
No=17
1+[[2 03], 1 a4 [1151 Y 471153 4
+[[ ]{l}thp] +[[ ]Zthp] XXX [ 190thp] [ 191thp]
= Prime(59907449687471) ;.
No=28

L+ (12300 ]+ [Bhup] + 20+ [2900,] + [Bliimp]

' [y, ] x4 [3710,] + [4113,] = Prime(6870733)

£

No=1

-E

No=2



= Prime(60025151) . ¢
No=1
L+ (12100 o]+ (Bl +20+ [Tl ]+ [Barmp]

= Prime(7826720903) ;. »

No=2
5 5 5
L4 (1201 ]+ [B3Lam,p] 50+ [2295 5T + [23351 41, ]

= Prime(5315694312101) ;. »
No=3

5

L[ 12101y mp] + [[B3l,] 200+ [50396 4T + [509%7 41|

= Prime(503388827998099) ,;. »
No=4

L+ (12100 o]+ [Bh,] + 20+ [953165,] + [967 163015 ]

= Prime(19398671440091479) ;. »

No=5
5 5 5
1+ [[2]{1}thp] + [[3]2thp] + xxx + [997168thp] + [1009169thp]

= Prime(25056561870953887) ;. »
No=6

5 5 5
L+ (1210 g+ [Blamp] 200+ [1061 56,51 + [1063179,,,]
= Prime(37137845945657467)

5

5

H-E
No=17

L[ 12100y ol + [l 200+ [1109,g0, T+ [1117,57, T

= Prime(49794637822344073) ;. »

No=28

L+ [[2] thpf + [[3]2””,]6 + xxx + [18142””)]6 + [19143””)]6

= Prime(254637172916827) .
No=1

1 2 4113 6 199 ® 41211 6
+[[ ]{l}thp] +[[ ]Zthp] +xxx+[ 46thp] +[ 47thp]

= Prime(515121222006767) ;.
No=2

1 2 6 3 6 421 64 1431 6

T2y mp] T[Bhmy] Frex+[421g 4, + [431g3,)

= Prime(64165941996249827) ,;.
No=3

L1211y |+ [[3T,]" 2000+ [1021 )5, 17+ 1031155, ,1°

= Prime(26101521510851697293) ;. ;

| No=4
> lhs((2))

D121y |+ [[3T,]0 0+ [1021 5, 1+ 103115, ]

6

(¢))

(&)



